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What can we say regarding m3»9X, which is written in the 7710

OVERVIEW

The X713 initially explained that the word 7347X refers to a widow, whose 7712103 is a
mn. The X3 then asked but what is the meaning of the word 732%X in the 770
(where seemingly there is no Xn>X772 71178 N2ND which is a 7n).

Moo responds to an anticipated difficulty:
= 3NPIMNTH D31 Z03NYN NAINT XINN VIVONT 11919 N9 NI

But we cannot say this, that we should prove from here that the 772> payment

of a ma» for an ;73%%X is a 577N obligation -
- 5955 XN NN 795980 KT DY 1393 NN KY “ha xnT

For in the days of nwn there was no coin called a mmn, for the 70 only
mentions a 925.

mooIn anticipates a difficulty:
= MNMNAVYNI P2 NN PINI 13229 NYN (owIn,n 91 *ma19aa 19999N7 N

And that which °X>7 32 71m° '™ said in P1M122 NO0n, ‘our master wWn was

trustworthy and versed in accounting -

- 7157 9195 WP YW MY YN
But the 7% of wTP was double the regular 71n; indicating that there was a 71 coin >»m
7wn, not as MdOIN just said —

"' See x,m% (2w) n*wr2 and 7,83 (NHK) KIP.
% On the previous Ty the X1m3 stated that even according to 3"2wA the 7Im9X N3 is 220 2T,
* Why did not the X»3 answer that the 70 calls her an 719X because her Xn»1XTa 7203 is a 71?! See “Thinking it
over’ # 1.
* A nm is a coin that is worth twenty-five 2°v%0 (or 22pw), or one hundred o°17 (or 2°127)
> In (12 ,X2) *Tp2 Nwo, when the 77N mentions the amount of gold collected it states NIXn ¥aw1 133 0w YWN
Spw owow. If there was a 71 coin, the 770 should have written, twenty-nine 733, twenty-nine 71n (725/25=29), and
five o°9pw. Since the 770 broke it down to 93> and 2°7pw only, indicates that there was no other coin (a 711) in
between. See N1VOIN in 711 7"7 X, M702. See “Thinking it over’ # 2.
® The xma there relates that w7 o1P10Np asked 1"2"; ‘was 1"yIwn a thief’; regarding the amount of silver collected
and disbursed by the jowni naxn. It is assumed that there are fifteen hundred 2°2pw in a 135 (or three thousand half-
o°%pw). This means that for every three thousand Jews one 133 of silver was collected for 2pwi n*snn. There would
be two hundred o°12> for six hundred thousand Jews (3000x200=600,000). However nwn distributed only one
hundred 0°73> of silver (approximately); where were the rest?!
” There was therefore really three thousand 2°7pw in a W7 W 1233. [A 135 for each six thousand Jews (six thousand
half 2°2pw); one hundred 12> for six hundred thousand Jews.]
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mooIn responds:
- 550 9195 DINPINY 91292 WP Y N3NY 110 919195 NN NYN 31352 N IV ND

Not that there was a 7% in the days of 7w, but rather 7"2°7 meant to say, just
as the m» of w7 in the days of ®Xp1r> was double -

$NYN M2 D195 WP YV 995 AN 95
So too the 922 of wT? was double in the days of 7w,

SUMMARY
There was no 71 coin 7w» "»°2 and 71178 NN is 112777,

THINKING IT OVER

1. m»poIn asks that we should prove from the word 73298 that 7an 7Im%% D22 is
xn>x.” However how can we prove it, perhaps (as the X3 actually states) she
is called mnx since in the future the nom instituted that she receive a 711?'°

2. Instead of saying that 7Im?X is on account of what the 2°»on will enact in the
future (as the X3 answers), let say that 71a9% teaches us that 712X N2> is
XN»7X7T and the 7710 used the term 7732 on account that in the future it will be called
a M. If in any event it is called 720y "y, why should we not say that it teaches us
that 71298 n2IND is xp»IRTA?!

8 See there in N17132 (at the bottom of the TmY).
? See footnote # 3.
10 See mxvon.
' See 7™w o"m.
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